runs (sweep or fixed target) taken w/ Blu1, Yel1
» No sizeable effects in Blu1 :

192 MHz V-scan

*10.02.12: 192 MHz voltage scanned: 20,100,150,200,250,300 kV

(other than 'usual' beam pulse)
* |n Yel1, increasing amplitude pulse in det. 3:
» ~fixed in TDC, middle of our window
» Usual beam pulse @ low amp., very hi/lo TDC
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80

50

40

30

20

10

16401.107 @ Fri Feb 10 19:27:37 2012 by dsmirnov, v1.8.5

- chan. 36

= V =300 kV
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Amplitude, ADC
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Channel Id

Entries
Mean x
Mean y
RMS x
RMS y

Integral 8.385e+06

8384698

41.94
50.02
5.782
1.396

0

0

0

0 3384698

0

0

0

0




h20 h100

Single chan. = T3
sooof- V=20 kV o0 V=100 kV
suoot- 0.03 MH 250t 0.02 MH
rates, amp. = R Z
- Chan. 36 (edge det. 3)  mi

~WO rSt affe Cted 00—. * 10 20. 3;) 40 50 60 70 B0 OO—I = ‘10l 20 30 40 50 60 70 B8O
trig- threshold

*» Here normalized

rate/ADC count - P w e
& total chan. 36 rate: V=150 kV ; V=200 kV
0.2 MHz 4.3 MHz
':"H'.'L?o"“ao"u“so"e'i'*%‘i“a. %:""15“"25 I R T T
°* @ 250, 300 KkV: =i =
- pulse ~every p-bunch . V=250 kV | | “FV=300 kv
- well defined peaks o 6.3 MHz «6.3 MHz
(ADC) =28 @ 250 kV - E
=41 @300kV = ~E

ol oo o g ol gl o g gl aa oy L
0 10 20 30 40 50 60 70 B0 0 10 20 30 40 50 60 70 B8O



Single chan. amplitudes

» Chan. 36 raw ADC dist. one plot:

fChannel. fAmpltd {(fEventld.fChannelld==35)*10./1.95} | h200
«10° Entries 838278
Mean 14.88
B RMS 1.842
1000 150 kV
- 200 kV
- 250 kV
8001~ 300 kV
600
4uu£—
zuug—
B | | | | |
%

20 30 40 50 60 70 80

=
o



Transverve profile, RF V on/off

*» Tues. AM several Blu measurement made:

V =200 kV — 20 kV — 200 kV
» Here transverse profile
param. R for RF off/on:

0.6 [

» Need more stat. for conclusions... o=

05 F
0.4 F
03 F
02 F
0.1 F

RF 20 k¥ E s%P&F 200 k¥ Blul—up

||||||||||||||||||||||||||||||||||||||

RF 20 k¥ E RF 200 kv BluZ—dn




Hamamatsu problems?

» A not atypical B2D run this AM, single chan. each detector:
det. 2 det. 3

o 90 o 90—
g E 10° EE
80— 80 — Y TR
- - “-"w Ii :'l 'l'l "ood N [NRTIN] |. s ."ll 103
= 10° = |
70— 00— T L
60— 10* 60 —
- - 10?
50— 10° 50 —
40— 40 —
- 5 -
s 2 = 10
= 10 =
20— —
10: L | L L | L | L | L L | L L | L | | L L | - | | L | L L | | L | L | | | L L L L | L
0 50 100 150 200 250 0 50 100 150 200 250

Amplitude, ADC Amplitude, ADC
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det. 4
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det. 5
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| : Blue

bias

10

EE?#%:##%&

201
-307 é ]
: {
Ihl' | I| ﬂ / | Illl
40/ é oo 4
BNL 1 mm | |
-50

Thu 09 Fri1o0 Sat 11 Suni? Mon 13 Tue 14 Wed 15
Time (Start Fill = 16368)

bil?-pol3,1-detl,itcurrentd (D) bil?-pol3,1-det?, itcurrent (1)
bil?-pol3,1-detd,itcurrentd (D0 bil?-pol3,1-det5,itcurrentd (D)
bil?-pol3,2-detl,itcurrentd (D0 bil?-pol3,2-detB,itcurrentd (D)

bil?-pol3,1-det3, itcurrentd (1)
bil?-pol3,1-detE,izcurrentd (D)




Y1D det. 5
BNL 2 mm

Thu 09 Fri10

yol?-pol3,1-detl, itcurrentd (00
yol?-pol3,1-detd, itcurrentd (00
yol?-pol3, 2-detl, itcurrentd (00
yole-pol3, 2-detd, i tcurrentd (D)

Sat 11

Sun12 Mon 13

Time (Start Fill = 16366}

yol?-pol3,1-det2,izcurrentd (D)
yol?-pol3,1-dets, izcurrentd (D)
yol?-pol3,2-det2, izcurrentd (D)
yole-pol3, 2-deth, i tcurrent (D)

Tue 14 Wed 15

yol?-pol3,1-det3,itcurrentd (D)
yol?-pol3,1-detB, itcurrentd (D)
yol?-pol3,2-det3, itcurrentd (D)
yole-pol3, 2-deth, i tourrent (1)
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